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Question Number : 1 Question Id : 4165299686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The leastcount of the main scale of a screw
gauge is 1 mm. The minimum number of
divisions on its circular scale required to
measure 5 pm diameter of a wire is :
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Correct Marks: 4 WrongMarks: 1 Q‘b’

A personstanding on an openground hears
the sound of a jet aempha@gcoming from
north atanangle 60° with groundlevel. But
he finds the aeroplane right vertically above
his position. If v is thespeed-of sound,
speed of the plane is:

Options:
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Correct Marks: 4 Wrong Marks: 1

A passenger train of Ieng@l m travels at
a speed of 80 km/hr. Another freight train
of length 120 m travels at a speed of
30 km/hr. The ratio of times taken by the
passenger train to completely cross the
freight train when : (i) they are moving in
the same direction, and (ii) in the oppposite
directions is :
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A simple pendulum, made of a string of
length [ and a bob of mass ‘m, is released
from a small angle 0,. It sirikes a block of
mass M, kept on a horizontal surface at its
lowest point of oscillations, elastically. It
bounces back and goes up to an angle 0.
Then M is given by :

Options: _
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2 9y 48
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A satellite of mass M is in a circular orbit of
radius R about the centre of the earth. A
meteorite of the same mass, falling towards
the earth, collides with the satellite
completely inelastically. The speeds of the
satellite and the meteorite are the same, just
before the collision. The subsequent motion
of the combined body will be :
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41652938215 in the same circular orbit of radius R

41652938219, 1N acircularorbit of a different radius

41650938000, M an elliptical orbit

41655638221 such that it escapes to infinity
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Correct Marks: 4 WrongMarks: 1
The position vector of the centre of mass
-

'cm of an asymmetric uniform bar of
negligible area of cross-section as shown in

figure is :
L
L 2L 3L
Options:
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Let the moment of inertia of a hollow
cylinder of length 30 cm (inner radius
10 em and outer radius 20 cm), about its
axis be [. The radius of a thin cylinder of
the same mass such that its moment of
inerta about its axis is also I, is :

Options:
41652935226, 14 cm

41652938207 12 CM

41652038208, 18 cm

41652938209, 10 cm
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A straightrod of length L extends fromx=a
tox =L+ a. The gravitational force it exerts
ona point mass ‘m’ at x =0, if the mass per
unit length of the rod is A+ Ba?, is given

by:
Options:
1 1)
Gm x[ | + BL
\ { L dl r
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Correct Marks: 4 Wrong Marks: 1

A cylinder of radius R is surrounded by a
cylindrical shell of inner radius R and outer
radius 2R. The thermal conductivity of the
material of the inner cylinderis K, and that
of the outer cylinder is K,. Assuming no
loss of heat the effective thermal
conductivity of the system for heat flowing
along the length of the cylinder is :
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For the given cyclic process CAB as shown
for a gas, the work done is :

s A
6{} B L '-\\
5t L ¥
4 i \\\\ L
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2t \“\\
1 B
1 2 3 4 5
V (m?)
Options:
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Anideal gas occupies a volume of 2 m-” ata
pressure of 3 x 10° Pa. The energy of the gas
is :

Options:
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Two light identical springs of spring
constant k are attached horizontally at the
two ends of a uniform horizontal rod AB
oflength ! and massm. The rod is pivoted
at its centre ‘0" and can rotate freely in
horizontal plane. The other ends of the two
springs are fixed to rigid supports as shown
in figure. The rod is gently pushed
through a small angle and released. The
frequency of resulting oscillation is :

= GOS0 0
g Y
O ‘
# »
'EFFEWH:
B
Options:
1 |2k
2w V' m
41652928246,
1 |k
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= S
-
41652938249, 2w\ m N
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Question Number : 13 Question Id : 4165299698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A travelling harmonic wave is represented
by the equation y(x, ) =10 Jsin(50t + 2x),
where x and y are in meter and t is in
seconds. Which of the following is a correct
statement about the wave 7

Options:
The wave is propagating along the

41652635550 positive x-axis with speed 25 ms L
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The wave is propagating along the
negative x-axis with speed
41652938251, 25 ms ™ L,

The wave is propagating along the
41652935252 positive x-axis with speed 100 ms L
The wave is propagating along the

SRR 1
41650938553, negative x-axis with speed 100ms .,
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In the figure shown, after the switch “5’ is
turned from position A’ to position'B’, the
energy dissipated in the circuit in terms of
capacitance ‘C’" and total charge Q) is :
A B

0. O——
f,
CT 3 C]
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Determine the electric dipole moment of the
system of three charges, placed on the
vertices of anequilateral triangle, as shown
in the figure :

~29
¥l 1 / \\\1
i Y
+ql N4
q I o

Options:
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There is a uniform spherically symmetric
surface charge density at a distance R from
the origin. The charge distribution is
initially at rest and starts expanding
because of mutual repulsion. The figure
that re presents best the speed V(R(t)) of the
distribution as a function of its
instantaneous radius R(t) is :

Options:
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Anideal battery of 4 V and resistance R are
connected in series in the primary circuit
of a potentiometer of length 1 m and
resistance 5 (). The value of R, to give a
potential difference of 5 mV across 10 cm
of potentiometer wire, is :

Options:
41652938266, 480 ()

41652938267, 1904}
41652938268, 192
41652938269, 00 Q
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Two electric bulbs, rated at (25 W, 220 V)
and (100 W, 220 V), are connected in series
across a 220 V voltage source. If the 25 W
and 100 W bulbs draw powers P; and P,
respectively, then :

Options:

41650035270 L1=9 W, P,=16 W

41652938271, T1=16 W, P,=9W

41es0a3gs7s L1— 10 W, Pr=4 W

41652038273, T1=4 W, P=16 W
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faoretlt & 9o o1 U 220 V & €[ & 919
Il | A T E | A 25 W T 100 W F
o GRI w1 T VIfe F1 9 HEI: P, AP, ©

i :
Options: Q®
P OW, P,m16 W
41652938270, ~ 1 v, Py=16 %%
NN
W

41652038271, L1=16 W, P§§$

41650035070 L1= 10 W, Py 54\

41652938273 P1=4 W, P,=16 W

Question Number : 19 Question Id : 4165299704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Asshown in the figure, two infinitely long,
identical wires are bent by 90" and placed
in such a way that the segments LP and QM
are along the x-axis, while segments PS and
QN are parallel to the y-axis. [fOP=00Q =
4 cm, and the magnitude of the magnetic
fieldatQis 10~ 4T, and the two wires carry
equal currents (see figure), the magnitude
of the current in each wire and the direction
of the magnetic field at O will be
(Lg=4mx10 “NA™Y:

5| ¥

0Q

i
? e
i

MI

N
Options:
41652038574 20 A, perpendicular into the page

I, 20 A, perpendicular out of the page

41652938776, 40 A, perpendicular into the page

41652938277 40 A, perpendicular out of the page

N

Question Number : 19 Question Id : 41652997 Séugestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ion : Vertical

Correct Marks: 4 Wrong Marks: 1 \be.
21 ST e o THET a1 SO0 H A
ﬁ?ﬁﬂﬂ@wm%ﬁs%wawqm
9T x-37% T E T2 PS F QN HT -39 &
AR E | A OP=0Q=4cm, O WT==*4
25 T HA 10~ 4 T 2 991 SFLar 8 9= 9
(FER) 98 & 8 @ U ar § 9/ &
HF 91 fag O W =g & 1 fa9n erf ;
(g=4mx10~" NA~?)

]

L P

O
10

P ERRR L Sy R e e
—_—
=
1
=

Z

Options:

41652038274, 20 A, TS 6 THEST =T &l 3N
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- =, =, ; =,
41852938275, 20 " HI SR

4165093807, H0 A, T F THEEAT =L H AR

40 A, U9 & oFaad Jel F AR
41652938277,

Question Number : 20 Question Id : 4165299705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A proton and an a-particle (with their
masses in the ratio of 1 : 4 and charges in
the ratio of 1 : 2) are accelerated from rest
through a potential difference V. If a
uniform magnetic field (B) is set up
perpendicular to their velocities, the ratio
of the radii r : r_ of the circular paths
described by d"u:-m will be :

Options:

41652938278, 12

41650038079, 1:v2

41652938250, 113

41652038251, 1143 (&@&Q

q§§>

Question Number : 20 Question Id : 4 9705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No N Orientation Vertical

Correct Marks: 4 Wrong Marks:

fayET V 9 UF Q2[99 U o= F0 (Fo7h
FATH T SFIE 1 : 4 991 STEW H ST
1:2%) o fepeesn 4 =fd &t €1 afe
I ST o ST U U g A
(B) @A S Tl 59 N ok IR i
Wﬁﬂ@ﬁrp:rﬂﬁﬂﬂ:

Options:

41652938278, 1:2

41650038279, 1142

41652938280, 113
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41650038281 113

Question Number : 21 Question Id : 4165299706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In the figure shown, a circuit contains two
identical resistors with resistance R=5 ()
and an inductance with L=2mH. Anideal
battery of 15 V is connected in the circuit.
What will be the current through the
battery long after the switch is closed ?

I

EL
15V I {" o
) <
R<
Options:
41652938282, 2.9 A
41652938283, /-0 A
41652938284, 0 A
41652938285, 3A ®
K&Q
S

Question Number : 21 Question Id : 416 6 Question. Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Opti ientation.: Vertical

Correct Marks: 4 Wrong Marks: 1§

fom # femm i wfteg § <1 w9E wfaly #
o1 wfadis R=5 Q 2 991 = Yidc
L=2mH 2 15V & & ey @b #
iy | SrE T g | fEE w5 e e T o

HUE F =% 924 J Yaied S 2r
15V —— j R
R \
Options:

41652938282, DD A
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41652938283, 72 A
41652938284, 0 A

41852938285, 3A

Question Number : 22 Question Id : 4165299707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A light wave is incident normally ona glass
slab of refractive index 1.5. If 4% of light
gets reflected and the amplitude of the
electric field of the incident light is
30 V/m, then the amplitude of the electric
field for the wave propogating in the glass
medium will be :

Options:

41652938286, 10 V/m

",
41650938257 21 V/m

41652938285, 0 V/m

41652938289, S0 V/m
N

N
Question Number : 22 Question Id : 416529 Q?Qu%tion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option & ation Vertical

Correct Marks: 4 Wrong Marks: 1 ’Q\

AYEdE 1.5 T T HE G 95l U TS0
T safreTesreg STt 2l 21 afg 4% T
REfd B & 9T SATfqd W g 6
= M 30 V/m & 1, 19 & qremy § =e
el T F fagaes &1 sEm e

Options:

41652938286, 10 V/m

",
41650935087, 21 V/m

41652938288, 0 V/m

41652935289, S0 V/m

Question Number : 23 Question Id : 4165299708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 WrongMarks: 1

What is the position and nature of image
formed by lens combination shown in
figure ? (f}, f5 are focal lengths)

—2 (‘.IT'lM—H'

I |'; i.a‘l"'l-'ﬁl 1 Lf':"'B
D I'.I i I,'I ] i .III
‘N oy
'\:’f ) .-'. : 'y ’
20em  iff=+5cm | fr=—5cm
Options:
41650938290, 20 cm from point B atright; real

41650938091 /U cm from point B at left; virtual

41652938252 70 cm from point B at right; real

20

= cm from point B at right, real
41652935292, -

Question Number : 23 Question Id : 4165299708 Question Type: MCQ Option-Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
fod 3 fo= | o= 9asE 4 91 gfatasa #i
fearfa = wafa 2l : (f,, f, P4 31 ©)

"N

—2 cm—=

."'IFT\"'-. '. E III.-"r &%
I |I i/"‘I*A I| i,T'*‘B%{\\l(b.
O Lt 4
'KJ/ @
em  Jf=tommi AR
Options:
41652038200, s B H 40em =TT SR; ATEATTE

41652935791 195 B 9 70 cm =T HAT; SATHEI

41652938292, g B | 70 cm ST AR; ar&fas

. . 20 - S
g B 9 — cm =T #AR; Al
41652938293, 3

Question Number : 24 Question Id : 4165299709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

A point source of light, 5 is placed at a
distance L in front of the centre of plane
mirror of width d which is hanging
vertically on a wall. A man walks in front
of the mirror along a line parallel to the
mirror, at a distance 2L as shown below.
The distance over which the man can see
the image of the light source in the mirror

«5
L i
- » 2 L »

Options:

d

3
41652938294, <
416529382495, 3d

41652938296, 2d

d
4165259382597,
&

S

S
Question Number : 24 Question Id : 4@@09 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Opti rientation.: Vertical
Correct Marks: 4 Wrong Marks: @
AR T FHAER 2 g d HrerE % wEae g9
& A, 39 999 a5 9 L g8 9%, 919
e fag Bia S W gen ¢ | feam sHEn 5im
& A 2L g0 W, UF Afa 90 o HHAE,
UF T | 9ad €1 9% g, @l 9% =i
WeRIYT B 1 Wfatare <9 Tehdl &, 2 :

S

I
¥
[
—
¥

Options:
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ha| B

4165259382594,

4165259382395, 3

j='h

41652938296, 2d

41652938297, d

Question Number : 25 Question Id : 4165299710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A particle A of mass ‘m’ and charge 'q’ is
accelerated by a potential difference of
50 V. Another particle B of mass "4 m’ and
charge 'q’ is accelerated by a potential
difference of 2500 V. The ratio of de-Broglie
wavelengths h—‘d" is close to :

Ag
Options:

41852035208, 247
41652938299, 1000

41652938300, V07 \Q&Q
g\
D
14.14 Q§

N
S

Question Number : 25 Question Id : 4165299710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option'Orientation : Vertical

Correct Marks: 4 Wrong Marks ;1

416525938201,

FEE ‘m’ q91 G ‘q BAF F A
50 V favar 9 =g #3081 2599 4 m’
qY1 &Y ‘g F gL HU B w2500V F
fIqar & =T FLG & | 1 F00 T -t
ForesAl F aTE i—* =1 AfAFz 9F 2

B
Options:
41652938708, +47

41652938299, 1000
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41652935300, 007

4165259238201, il

Question Number : 26 Question Id : 4165299711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A particle of mass m moves in a circular
orbit in a central potential field

Uir) = % kr2. If Bohr's quantization
conditions are applied, radii of possible
orbitls and energy levels vary with

qLIEI.I'ItlIH'l number n as :

Options:
1
r, = njf En iy
41652938302, n-
41652038303 ™ * M En =n
1
I, * \}'E, E, x —
41652938304, n
T, % Jn, E, = n
41652938305, Q
&

S}
Question Number : 26 Question 1d : 416 11 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Opti rientation: Vertical

Correct Marks: 4 Wrong Marks: @

m E=FHE N UF F, Ufr) = % kr 2 =
e 451 o 1= U geia e | 9 W
Afe 91 F FEieHFI Ffaas H1 ITEE FL a1
T HerE wt B 3 S W =il
TEA, n F HY R 20 ;

Options:
~ 1
In = n, En o o
41652938302, n
41652038303, ™ * ™ Ey = n
1
I, * JH E, *—
41E52938304. n
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I, ® vn, Ei =n

416525938205,

Question Number : 27 Question Id : 4165299712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The output of the given logic circuit is :

A | _ﬂ\b—
h: 1 p—¥
__.-)' _..-"
B _>
Options:
416529383206, a8+ b

41652az8=07. AB

41652938308, B
AB + AB
41652938209,
Question Number : 27 Question Id : 4165299712 ion Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orler@ n: Vertical
Correct Marks: 4 WrongMarks: 1 §,
Q‘?}

‘ﬁa:m?:rz‘wlTi“?ﬁTr?aan'rrrﬂ?n%$
B

'-".—
| &
;

A

B ri___..-"'
Options:
41652938306, S5 LB

41652928307, AB

416525938208,

AB + AB
418529382049,
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Question Number : 28 Question Id : 4165299713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A 100 V carrier wave is made to vary
between 160 V and 40 V by a modulating
signal. What is the modulation index ?

Options:

41652938310, 03

41652035211, 06

4155259382172, 0.5

418529383135, 0.4

Question Number : 28 Question Id : 4165299713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T Hged fEE F 5 100 V T 98 ail
F1 160 V 71 40 V F =g wfEfia F2d €
g gaFiE T4 T 7

Options:

41652938310, 03

41652935311, 06

41652938312 00 Q

415525938213, 0.4

Question Number : 29 Question Id : 4165299714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The galvanometer deflection, when key KI
is closed but K, is open, equals 0 (see
figure). On closing K, also and adjusting
R, to 5 {1, the deflection in galvanometer

becomes ?ﬂ The resistance of the

galvanometer is, then, given by [Neglect the
internal resistance of battery] :

K, Ry

A [

Ry=2200[ * "W /i —"
_'ﬁ'\-ﬂ'-v ,-’x_v_ |
G)

Options:

41652938314, 22 1)
41652938315, 12 )

41652938216, 2 {2

41652938317, 22 {2
"~
Question Number : 29 Question Id : 416529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Optior\ tation.: Vertical
Correct Marks: 4 Wrong Marks: 1 &Q

v F K, 7= F A S K, @l E
ATt | fagm o, & (99 3f@d) 1 K, #1
T FEH R, H 5 O T R Icamrd J
fady 2 A S &1 e 77 e 8
(12 1 AT Jfas T ¥)

K, Ry

i A
— A
Ry=2204| -~ \" "
_r..\‘.-"‘"-\.l'n'-‘_.i_ I
e
xg:"?;'

Options:
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41652038314, 22 {1
41652938315, 12 {2

41652938316, 0

416525938317, 250

Question Number : 30 Question Id : 4165299715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a meter bridge, the wire of length 1 m
has a non-uniform cross-section such that,

the variation E of its resistance R with

length [ is a - w_"? Two equal resistances

are connected as shown in the figure. The
galvanometer has zero deflection when the
jockey is at point P. What is the length
ApP3

R R
- WA $
_ N
© S
NI

N

| G, = |
————1_____,:’____%

=173

A
fe—]—fe——1— |—
Options:

41652938318, -2 M

41652938319, 025 m

41652938320, -2 M

41652938301, 030 m

Question Number : 30 Question Id : 4165299715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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U Het |y H, 1 . TR & aR w1 A9EH
ST F12 59 UHH ¢ fF, g0 wfaie R =1
: dR 1 .

r Y [d dR =
—_—
Wl?ﬁmﬂ‘i{ﬁﬁ'ﬁ:{—d? F J;‘H

Fe e % | ey 7 P & el
F1 W T E | WA Wi g P W E Al
e H Y (9 € | TS AP F e 2
| |
| I
R R
_I_:"'.-'ﬁ'-."l.","il"ﬂ'-,- A '-.-'h"."ﬁ"."ﬂ'-,'_|_

G)
X S I
[l — |4
A B
— ] ————1— —
Options:
3
41652938318 (-2 m
41652938319 025m
41652938320, )3 M
41652938321, U0 M ‘@®
&
N
N
% Chermistry
Section Id : 416529146
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 416529155
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 4165299716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Poly-p-hydroxybutyrate-co-f3-
hydroxyvalerate(PHBV) is a copolymer of
Options:
2-hydroxybutanoic acid and
41650935500 S-hydroxypentanoic acid

3-hydroxybutanoic acid and

41652038303, 3-hydroxypentanoic acid

3-hydroxybutanoic acid and
41652935324, 2-hydroxypentanoic acid

3-hydroxybutanoic acid and

41652938325, 4-hydroxypentanoic acid

Question Number : 31 Question Id : 4165299716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

W-H-EFEE:EHF @lékIE-cn-[ﬂ%lEEjl&'ﬁléfﬁIE
(PHBV) foas qe dgeis &, 9 2 :

Options:

41652038300, > olkS ufee

41E52838323. 3-2I%S g

41E52938324. 2-7I5S LU

41652938325, AEIESIFHMAEH TS

Question Number : 32 Question Id : 4165299717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In the following reaction

Aldehvde + Alcohol HCL, Acetal
Aldehyde Alcohol
HCHO ‘BuOH
CH;CHO MeOH

The best combination is :
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Options:

41652935307 HCHOand ‘BuOH

41652938328, CHZCHO and 'BuOH

CH,CHO and MeOH
415523928329, d

Question Number : 32 Question Id : 4165299717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=1 sfafman o

fﬂ‘m g ﬂw = u. liC!_} m‘\ -

HCHO ‘BuOH
CH,CHO MeOH
gafTq HEeE €

Options:

416509355306, NCHO T4 MeOH

41652935307 HCHO a1 'BuOH

"\Q&Q
41652938328, CH1aCHO T rBuC@

418529385329, WCHO H%\@OH

Question Number : 33 Question 1d” 4165299718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No' Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The increasing order of reactivity of the
following compounds towards reaction
with alkyl halides directly is :

= Il
O
(A) (B)
CN
.;.5'““ NH; = ’-::-'H“"Hf""mf 1>
La. | :;;biﬁ..-""
i -
© (D)
Options:
41852038330, (B)<(A)=<(D)<(C)
41652938331, (AIB)<C)<([D)
41652938332, A)<(C)<(D)<(B)
41652938333, (B)<(A)<(O)=<(D)
Question Number : 33 Question Id : 4165299718 on Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orie(% : Vertical
Correct Marks: 4 Wrong Marks: 1 &
sHfufen 1 s 2 e
O
0 SO
N Rl id
(A) (B)
CN
_A~_NH> [ffa”fo 1>
L |T By
H"C'\.c-_?___.-"'--' e
©) (D)
Options:

41652938330, (B)<(A)<(D)<(C)
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41652938331, (M<(B)<(O)<(D)

41652938332, (A)<(C)<(D)<(B)

41652938333, (B)<(A)<(O)<(D)

Question Number : 34 Question Id : 4165299719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
C|)1{
CHSCHE_(E —CH;3 cannot be prepared
Ph
by:
Options:
41652638334, PhCOCH; + CH,CH,MgX

s165pamanss CH3CH,COCH, + PhMgX

41652935336, P RCOCH,CH; + CH;MgX

41650935337 NCHO + PhCH(CH,)CH,MgX

Question Number : 34 Question Id : 4165299719 ion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orient . Vertical

Correct Marks: 4 WrongMarks: 1

OH S

| ] \Q =
S @%ﬂ?gmﬁrﬁ

Ph

FHE S HFAI 2 7
Options:
s1eeo0ssass PRCOCH; + CHy;CH,MgX

41652938335, THaCHCOCH, + PhMgX

41652938336, THCOCHCH; +CH3MgX

41652938337 CHO + PRCH(CH,)CH,MgX

Question Number : 35 Question Id : 4165299720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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In the following reactions, products A and

B are:
O O
H C,.f* u S T L 'J-|"*-._H dll NaOH [A]
S H,C” TCHj
HO"
[Al—5— [B]
Options:
o o .
L CH, 1l CH,
"m.w__,-" ‘--Hw_,..f'
41652938338,
..--'LI\. |'IL-‘II_[3 ..-'I'I\ .'CHE
& [ B:[ T--«::EI3
o x'.'h‘:a.'.*;,_-_..a-"
41852938339 HO e
OH {| | CH,. 9,
H.'!I(: " — - ‘MH Y S e ""-\-\. H
A= s B
HyC T HAC T
41652935340. CH, CHy
o &8
OH S Hk
L 2C, .l
HyC S Ty

4185293585341,

Question Number : 35 Question Id : 4165299720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=t sifafFsfi Hsae A 9T B ¥
® e
A AN mgNaoH
S ol o we T
H,O*
[Al—— [B]

Options:
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e J F-CHH;B_ “ CH;
e ] S
41652938338,
o [ CH,
e [ CIIa;B:[ [ CH,
D e T ‘-‘-::;__b,_x
41652938339, HO x
oH I cHy
H4C- ~ " H ==t =]
A= ;B=
HyC Y H,C Y,
41652938340, CH, CH,
O . 0,
< I HC I
H,C— ~H i
HAC H,C Y
CH, CHj

4185293585341,

Question Number : 36 Question Id : 4165299721 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option OrientationQVertical

Correcvt Marks: 4 Wrong Marks: 1 %Q
The major product of the f Dllowin%&ct ion

is : &
S
_~_CN N
(i) DIBALED

= __,f”‘“*D (ii) H:;D +
e

(@]

Options:

_#~__CHO

Qhﬁ ""'[‘D

s

41652938342, O

_f:f.f:mT,.CHo
41652938343, CHO
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.-':::-".'::h."“-. e CH o NH

4165259385344, R

418523538345, u

Question Number : 36 Question Id : 4165299721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=1 sAfufsran =1 9= 3e7E 7

e

o, o
S

| (i) DIBAL-H
S0 (i) H;O*

[}

O

Options:
o N CHO

«:hﬁ i \O
LL L
41652938342, 0 ‘Q\Q
5@
~__CHO &
e S Q

T

\"'-';;_3-_“ G UH

41652938343, CHO

4185293585344, e

- O
41652938245, u
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Question Number : 37 Question Id : 4165299722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The major product of the following reaction

15 &
CI LED "‘T.’J"::::H'L“-- --’*'f...'H"a._,.-f’"ﬁ'-‘:%“?_-} “ l.] CIZKC{:'“
S ’” (2) AIC]B{anh}rd,}r
Options:
Cl
CH;0 - _:_,_;;'\(
41652938346, St
CH30 ="\
- [ ™
CIo
HH"\-\.':_.-"' i (\": /(:1
41652935347, L
Cl
.-"'l"'\-\.._\
CHED o :;:T-:::" __F,.a-"
41652938348, D
&
g\
Q
41652938349, RS2 KA

Question Number : 37 Question Id : 4165299722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e safaferan =1 9= 3= ©
CH30 - é’T”“’”“% (1) Clp/CCly
I | (2) AlClz(anhyd.)

';r'?"ﬁ?,---’*"
Options:
Cl
CH;0 [’f\f
41652938346, St
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41652938347, ot

CHao S .;:Z'-'-:::" ..-"".-'

L

416525928248, R

416525938249, e e 0]

Question Number : 38 Question Id : 4165299723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Among the following compounds most
basic amino acid is:

Options:
41652938350, Histidine
41652938351, Serine \é@
Lysine @
41652938352, ¥ >
&Q\Q
41650938353, Asparagine

Question Number : 38 Question Id :- 4165299723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T Al | H T9Y S2El 9 UHE S5

Options:

416525938250, fE=re

41652935351, HU

MSHA

415523928352,

ek

41852928253
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Question Number : 39 Question Id : 4165299724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The correct order for acid strength of
compounds
‘CH =CH, CH3—C = CH and CH,=CH,
is as follows :
Options:

AfEssesgsny H-=CH> CHe~CuCH > CHy=CHy

ijEEsesgsse M -maa iU = LT =CHa

4ig5pegggsg s~ C=CH>CHy=CHy >HC = (H

CH=CH >CH,=CH, >CH;~C =CH
41652938357, *

Question Number : 39 Question Id : 4165299724 Question Type: MCQ Option Shuffling:Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

CH=CH, CH3~C =CH @91 CH, =CH,

AR F oTlia A T T2 FH €

Options:

HC =CH > CH3—C = CH > CH,=Ci13

41652938354, <
i cecm a9
Aless9sgsss, S GCECH > CHedH > =2

O
N
41652938356, 3 - :L§§f—“z=f—“z >HC = CH

CH =CH > g% 2¢t, > CH;~C=CH
41652938357, :

Question Number : 40 Question Id : 4165299725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Among the following four aromatic
compounds, which one will have the lowest
melting point ?

e e
e ) ,J
- "-w-#".-'

Options:

s

41852938358, s
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4165293823549, i --H__J_,_:,.;f

O
L
ey i
G ﬂ: “OH
" A - _OH
e ""'\-\.|_|.-""
41652938360, O
CH;
P . .-’H.H_h - L‘w
= | o ‘“T?‘I’ =0
L e .--'--"l:----‘J
o -~ i, "m,\l..-'.-'
41652938361, CHs

Question Number : 40 Question Id : 4165299725 Question Type: MCQ Option Shuffling : Yes. Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

et =R wifes A § 9 forgs Toris

=g 2rm ?
Options:
ey e
C 1]
'h':;'.:»_\:______,.-f" -H'-H;;.-’-""'-::. ®
4152925258, g&&g
" &
41652938359, = F
Q
M
o,
£ |‘|: OH
e, L - DH
e x||;
41EEZ29253E0, O
i
e 5 e ) -_____.-' ——,
o | - “"“‘H_I x>0
L e N - _.-{.-)
e H"\-\.'..--.#. . ___-__-
41652938361, CHjy

Question Number : 41 Question Id : 4165299726 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Correct Marks: 4 WrongMarks: 1

The element with Z=120 (not yet
discovered) will be an/a :

Options:

41652938362, alkali metal

41650933363, AlKaline earth metal

41650035364, Tansiion meltal

41652635365 INner-transition metal

Question Number : 41 Question Id : 4165299726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

g 7 foasr 2=120 T (fomat @ a1t
A% &l T8 ©) B :

Options:

®
41E52938362. i
41652938363, SRR SR

= "
41652938364, i

O

41652038365, ST HEHHT H1g gﬁ\
»
>

»
Question Number : 42 Question Id ; 99727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No n Orientation”: Vertical

Correct Marks: 4 WrongMarks: 1

In the Hall-Heroult process, aluminium is
formed at the cathode. The eathode is made
out of :

Options:

41652938366, Llatinum

41657938267, Pure aluminium

41652038365, —OPPer

41652938369, —arbon

Question Number : 42 Question Id : 4165299727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TE-eleE WehH H TSMfEm FUe WoaE
T e formem 9@ &, 92 ©

Options:

41652938366, M

41652938367, U6 T

41652938368,

-

4165259238269,

Question Number : 43 Question Id : 4165299728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The hardness of a water sample (in terms
of equivalents of CaCQO,) containing
1073 M CaSO, is:

(molar mass of CaSO,; =136 g mol " 1)
Options:

41652938370, 0 PPmM

41650938371, 00 ppm
41650935370 10 PPm N
; Q
N
N
50 ppm S
41652938373, Q\Q

S
Question Number : 43 Question Id : 4165299728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks:'1

I % 39 Hiaeel Fi FHerdl (CaCO, & 99
F ame) e 10 -3 M CaSO, T, B :
(CaSO, =l HieL g=99H =136 g mol 1y
Options:

41652938370, 20 ppm

41650938371, 00 ppm

41650938370 10 PPM

50 ppm
415529383273, PP
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Question Number : 44 Question Id : 4165299729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A metal on combustion in excess air forms
X. X upon hydrolysis with water yields
H,0, and O, along with another product.
The metal is :

Options:

41652938374, M

41652938375, Na

41652938376, Rb

41652938377, M8

Question Number : 44 Question Id : 4165299729 Question Type: MCQ Option Shuffling : Yes ‘Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T 9T, 919 & AN H, 89 2 T X FAw0
T1 X W & WY S AT FH H,0, T

0, 3R F7 FE IR MY UM :

Options:
41652938374, L
N
. Q
41652938375, Nd §§§
\Q‘G
41652938376. Rb N
N
41652938377, M8

Question Number : 45 Question Id : 4165299730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Iodine reacts with concentrated HNO; to
vield Y along with other products. The
oxidation state of iodine in Y, is:

Options:

41652938378, 1
41652938379, 3

41652938380, 2
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41652938381, /

Question Number : 45 Question Id : 4165299730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AAEH °= HNO; & 919 AAfufsa =3
S SEUE F HE Y TR €1 Y H AEEE
T SRR T

Options:

416529383758, 1
41652938379, 3

41652938380, 2

|

415525938381,

Question Number : 46 Question Id : 4165299731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The pair of metal ions that can give a spin-
only magnetic moment of 3.9 BM for the
complex [M(H,0).]Cl,, is :

Options:
41652933352 Cr " and Mn*" \Q®
g\
V2+ and Fe?*! Sk
41652938383, N3
O
&Q

J2 4 .
41652938384, V- andC

—~ P 2D §
41652938385, Co~ " and Fe

Question Number : 46 Question Id : 4165299731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HFA [M(H,0)6]CL, F fere g 31 =1 7
1 3.9 BM &1 U& o0 90 a6 S0t <
¥, e

Options:

a1652938382, CF ¢ 91 Mn**

2+ 1n2 +
41652938353, V- a4l Fes
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) o |
41652938384, V- 941 Co~*

2 4 3 2+
41652938355, CO° T4 Fer

Question Number : 47 Question Id : 4165299732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The metal d-orbitals that are directly facing
the ligands in K5[Co(CN),] are :

Options:

[ ]

dyy andd s
41652935386,

dxv, d,. and dyz
41EEZ293E3ET.

d...d.,. andd .
41852938385, Cxzs Gyz ANAC2

d 2 .2 and d _»
41852938389, * ¥ =

Question Number : 47 Question Id : 4165299732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9Td % d-FeH 9 K;[Co(CN)] H 1‘?—117—-5@5

WY I T, E §
Options: c§’
Q
d , A d 5
416525928286, o @
dl‘]ff dl’z HE“ d"]f:
41652928587, :

dy,, d,, T d,
41552938358, G =

d, ,aud.

I =y vk

4165259238289,

Question Number : 48 Question Id : 4165299733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Mn,(CO),, is an organometallic compound
due to the presence of :

Options:
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41652938390, Mn—C bond

41652938391, Mn—Mn bond

41852938392, ©— Obond

41652938393, Mn— O bond

Question Number : 48 Question Id : 4165299733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TorEsh1 I % HEU Mn,(CO),, TF
Options:

41652938390, Mn—C #H=TH

41652935391, Mn— Mn =¥

41852038392, © 0O IA=TH

- AT
418529383935, = 1

Question Number : 49 Question Id : 4165299734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option OnentQQK “Vertical

Correct Marks: 4 Wrong Marks: 1
Water samples with BOD value@'—l ppm
and 18 ppm, rr_-qpectweh a&Q

Options:
416529358394 Clean and {_.}_Eﬂ.ﬂ

41652935395, Highly polluted and Clean

41650928396, Clean and Highly polluted

Al6c003539- Highly polluted and Highly polluted

Question Number : 49 Question Id : 4165299734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
4 ppm @41 18 ppm BOD (A.3.2) 9[
A S & A FHEI: 2

Options:
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41652938394, A0 ad1 =S

41652938395, STATTH AT U1 =

=3 ks i gifqﬁ
4155259382396, Lol il

3:|ﬁ:ff ﬂiﬁﬂﬁ .yfq'f?. ; gif'qﬁ
4165293583297, o Bl £

Question Number : 50 Question Id : 4165299735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The molecule that has minimum/no role
in the formation of photochemical smog,
1S :

Options:

416524938398, O;

4165259238399, NE

416525938400, NO

418529358401,

Q

Q
Question Number : 50 Question Id : 416529973 S@uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ion : Vertical

Correct Marks: 4 WrongMarks: 1 QO
mmmwﬁaﬁm&%ﬂ
FIHEHFIY megaaH%%‘{fq?ﬂ%ﬁﬂ%. :

Options:

41652938398, O;

4165259382399, NE

418529358400, NO

4155259258401,

Question Number : 51 Question Id : 4165299736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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50 mL of 0.5 M oxalic acid is needed to
neutralize 25 mL of sodium hydroxide
soluton. The amount of NaOH in 50 mL
of the given sodium hydroxide solution is :
Options:

41652938402, 20 8

41650935403, V8

41652938404, 90 &

41652938405, 1V 8

Question Number : 51 Question Id : 4165299736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

25 mL Hifzaw smgiTance faoaaT &
SEHHT & faU 0.5 M eTaeifas o5 &
50 mL = SEvga el g1 fed T Hifeam
TEelaEEe fae@d & 50 mL H§ NaOH =i
o= 2

Options:

41652938402 20 8

41652938403, 08 §

&
41652938404, 30 8 ‘b§’

10g N\

4165259238405,

Question Number : 52 Question I'd 4165299737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The volume of gas A is twice than that of
gas B. The compressibility factor of gas A
is thrice than that of gas B at same
temperature. The pressures of the gases for
equal number of moles are :

Options:

P,=2P
41652938406, A B

=3
41E52938407. Po=3Pg
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2P, =3P

41652938408, ~ A B

P, =2P
41652938409, © A B

Question Number : 52 Question Id : 4165299737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9 A =1 27999 719 B % A 1 21 T 2|
e & 9 T T A 1 HYi=sal o 9 B 6
et e 1 G H o TS | Hrel
TOH =1 % feu T 2= 2

Options:
41652938406, LA~ 2TB

=3
416525938407, Py=3Pg

2P, =3P
41552338408, ]

AP, =2P
41652938409, = A B

Question Number : 53 Question Id : 4165299738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 \Q®
What is the work function of tl& \(al if
the light of wavelength 4000 nerates
photoelectrons of ﬂ.ﬂ}hﬂu::itj,—'@ﬂ5 ms
fromit? Q
(Mass of electron=9 x 10~ °! kg
Velocity of light =3x10° ms_ !

Planck’s constant =6.626.<10 4 Js
Charge of electron=1.6 x 10~ ¥ JeV 1)
Options:
41652938410, +0eV

41652938411, 21 €V
41652038412, 0.9V

41652938413, >leV

Question Number : 53 Question Id : 4165299738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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oTq T FTAEC F1 8, If 40004 Time
= FE9 5HH 6 % 10° ms | 977 % IRl
] Io9H FAT 8 7

(S ®I Hefd=9x 1031 kg

THT9T T =3 % 108 ms !

i i =6.626 1034 Js

T SeTaeiA o1 AEA=1.6x10"19JeV 1)
Options:

41652938410, +0eV

41652938411, =1 €V

41652938412, 0.9 eV

41652938413, 1€V

Question Number : 54 Question Id : 4165299739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Two solids dissociate as [ollows

A(s)=—=Big) + C(g); Ki‘ﬁ = x atm?

F_?I{u,]—— “(g) + E(g); p,= ¥ atmz%QQ
The total pressure when both t@ solids
dissociate simultaneously is Q\Q
Options: @
\.I'x+y atm

416525938414,

41652938415, (*y)atm

2 = )
41652938416, “[.‘J"J’«"' atm

212 ate
Al oeggaly ®TY-aum

Question Number : 54 Question Id : 4165299739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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21 2 f= wer fadifea 2 &

A(s)==B(g) + C(g): K = x atm?

. % -~ . T — 2
Dis)——0U(g) + E(g); Expz = Iy atm

54 M1 2 U @ Wy 9o 2 @1 9 T|
B
Options:

,&.I'x +1y atm

4165259238414,

41652038415, ¢ 1Y) atm

416525938416, : [ m) atm

9 9
41555938417, & Ty am

Question Number : 55 Question Id : 4165299740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

For a diatomic ideal gas in a closed system,
which of the following plots does not
correctly describe the relation between
various thermodynamic quantities ? ®

Options: S’Q\Q
&8
&
N
U @
41652938418, T
|
e,
.-'-Illll
41652938419, T
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.-.--"'f’f""
ol
CF‘ I
.-.--'/ff"f
41652938420, P
o
41652938421 Vv

Question Number : 55 Question Id : 4165299740 Question Type: MCQ Option Shuffling : Yes Display:Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

% 9 fm § U e oed W E
o fa=1 3 @ = o1 v e fafys semfas
FET & We W] Tl el Hel e =ard

Options:
ra / :
G Q
O
U / §§§
W NS
: Q
O
N
41652938418, T
I/
o
.-"Ill..
41652938419, T
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et
CF‘ I
.-"/ff"f
41652938420, P
o
41652938421 Vv

Question Number : 56 Question Id : 4165299741 Question Type: MCQ Option Shuffling : Yes Display:Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Freezing point of a 4% aqueous solution of
X is equal to freezing point of 12% aqueous
solution of Y. If molecular weight of X is
A, then molecular weightof Y is:

Options:
41652938422,
Q
\Q
41652938423, 2 §§$§
" N
41652938424, - Qg&
$
41652938425,

Question Number : 56 Question Id : 4165299741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X & 4% weia faeaa = e, Y # 12%
et faeram & femis & aua 21 afe X =
AL A T A Y 1 AYHR B0

Options:

416525938422, A

415523928423, 2A

41652938424, oA
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416525938425, A

Question Number : 57 Question Id : 4165299742 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a chemical reaction, A+2B- 2. 2C+D,

the initial concentration of B was 1.5 times
of the concentration of A, but the
equilibrium concentrations of A and B were
found to be equal. The equilibrium
constant(K) for the aforesaid chemical
reaction is:

Options:

W | =

41852938426,

416525938427,

41852938425,

41852938429, 16

Question Number : 57 Question Id : 4165299742 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 ®
TF THETTE AR, A4 2B = 83D
ﬁ,Bm’TmﬁﬂﬁmAﬁu@ 15
T o AR A 91 B A3 = S
TS| ST AfafE F foe§i= fers (k)
2

Options:

W | =

418529358426,

416525938427,

41852938425,

416525938429, 16

Question Number : 58 Question Id : 4165299743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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The standard electrode pntent:ial E° and

[dES
\dT /

are 2 Vand —5x10~4 VK1 at 300 K
respectively. The cell reaction is
Zn(s) + Cu?*(aq) »Zn>*(aq) +Cu(s)
The standard reaction enthalpy (A H#®) at
300 K in k] mol ~ !is,

[UseR=8]JK~Imol ~land F=96,000Cmol ~ 1]

its temperature coefficient | i for a cell

Options:
41652938430, — 412.8

41652938431, 2064

416525938432, 384.0

41652935433, 1920

Question Number : 58 Question Id : 4165299743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF Hd & fou aFe o fava E° aun

%
ST AT T | gg 300 K T %HY: 2V

Ao 5% 104 VK1 | wmﬁ@é‘%
Zn(s) + Cu®*(aq) —»Zn>*(aq) 2
300 K W W stfufman W-@T (A HB),

k] mol~ ! § BT : @
[R=8JK !mol ~! 71 F=96,000 € ol ]
Options:

41652938430, — 12.8
41652938431, 2064
384.0

4155232843%2.

41652938433, 1920

Question Number : 59 Question Id : 4165299744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Decomposition of X exhibits a rate constant
of 0.05 pg/vyear. How many years are
required for the decomposition of 5 pg of
X into 2.5 pg ?

Options:
41652038434, 2V

415525938435,
416525938436, 5

416525838437,

Question Number : 59 Question Id : 4165299744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

X %1 fa=e 0.05 g /a4 1 <X Fadis wefiid
FA €1 X F 5 pg I faafed et 2.5 ug B
T fohaq o9 o ?

Options:

418529358454, 20

41652938435, 0
41652038436, 29 K@&Q
§Z§
41652938437, 40 NS
QQ

Question Number : 60 Question Id : 4165299745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Given

Gas H, CH; CO, SO,
Critical 33 190 304 630
Temperature/K

On the basis of data given above, predict
which of the following gases shows least
adsorption on a definite amount of
charcoal ?

Options:

41652938438, SO,

I

41552328439, CO,
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4155232358440, CH'—'I

41652938441.I{3

Question Number : 60 Question Id : 4165299745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

fem T

i H, CH; CO, SO,
wifds aa/K 33 190 304 630
TR {3 T S F SR W AT Sifen
for fr1 9 9 9 9t 19 9w = U A=
T T <A AT HSTed HLl 7
Options:

SO
4165259384358, 2

41652938429 CDZ
41652938440, CH'—i
41652938441.1{3
R &
(§» Mathermatics
Section Id Q\Q 416529147
Section Number : Q$ 3
Section type: % Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto beattempted: 30
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 416529156
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 4165299746 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let S={1, 2, 3, ... , 100}. The number of
non-empty subsets A of 5 such that the
product of elements in A is even is :
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7100 _q
41652938442, <

50 _
41652938443, 2 —1

50 250 _
41652938444, 2 (2°—1)

50
41652938445, 2 11

Question Number : 61 Question Id : 4165299746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AMS={1,2,3,..,100}, WS & 34 9+ A=
(non-empty) E‘?’?ﬂﬁlﬁ A T F=Fai =1
VAT | €, T =

Options:

7100 _1
416529358442, <

50 _
41652038443, 2 —1

50 50 _
41652938444, 2 (27 —1)

5ﬂ
41652938445, 2 11

Question Number : 62 Question Id : 416529974 S&J&etlon Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orj ion : Vertical

Correct Marks: 4 WrongMarks: 1 \QQ}

I—n
If » (aeR)is a purely u@nar} number
X

and |z =2, then a value of o is :

Options:

3 | =

416525928446,

I~

4165259238447,

.

415525328448,

416525938443,

Question Number : 62 Question Id : 4165299747 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Z L: (aeR) TF 75 T H FHeTH 92

Z+
T A |2l =2% T a FITFHAL :

Options:

I | =

418529358446,

I~

418529358447,

"

418529358445,

4155232358449,

Question Number : 63 Question Id : 4165299748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If A be the ratio of the roots of the quadratic
equation in x, 3m%x?2+ m(m —4)x +2=0,
then the least value of m for which

A |l =5 : ,is:

A
Options:
41652938450, 3v2

= N
41652938451, 23 g\\
»
\Q‘Zr

41652938452, 2 — V3 Q

41652938453, —2 + V2

Question Number : 63 Question Id :'4165299748 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Afe x ¥ 5o aHEFm

3mZr2 +m(m—4)x +2=0 F Fel F I

h%,ﬁ‘zfmﬁlagwqﬁm%m
1

A+—=17% &
—-1%%

Options:

416852938450, % }"E
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41652538451, 243

41650938452 2~ V3

41652038453, —2 + V2

Question Number : 64 Question Id : 4165299749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
e
Let P=|{3 1 0| and Qz[qij] be two
I R |

3 X3 matrices such that Q — P° = I3 . Then

d21 + qm
32
Options:

is equal to :

41652935454, 9

41652938455, 10

41652938456, 10

135 N
416529358457, %Q

S
S

Question Number : 64 Question Id : 41 749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Op@' rientation :-Vertical

Correct Marks: 4 Wrong Marks: b

100
ACP={3 1 0| 3N Q=[qyl A TH3x3
g 5 1
' L9 g
T E, fF Q- =15 %ﬂ%
T2 ;
Options:

41652938454, 9

41652938455, 10

41652938456, 19

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

41652938457, 135

Question Number : 65 Question Id : 4165299750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Anordered pair (a, B) for which the system
of linear equations

(1+a)x+py+z=2

ax +(1+p)y+z=:

ax +pBy+2z2=2

has a unique solution, is :

Options:

41652938458, (1,—3)
-3

416525938459 (~=3.1)

41652938450, (—% 2)

4165259358461, (2 4)

Question Number : 65 Question Id : 4165299750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Wﬁmaﬁﬁmw({nmm&mﬁg

T A S\\Q
(1+a)x+py+z=2 &

ax +(1+pjy+z=3 $Q\QQ}

ax +By+2z=2 @
FUFHTHITAS, ©

Options:

41652938458 (1, —3)

41652938450, ("> 1)

41652938450, (—% 2)

416525938461, (24)

Question Number : 66 Question Id : 4165299751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Consider three boxes, each containing 10
balls labelled 1, 2, .... , 10. Suppose one ball
is randomly drawn from each of the boxes.
Denote by n, the label of the ball drawn
from the ith box, (i=1, 2, 3). Then, the
number of ways in which the balls can be
chosen such thatn 1 <N, <n,is:

Options:

4168529358462, 120

41652938453, 104

41652938464, 52

416525938465, 240

Question Number : 66 Question Id : 4165299751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o[ v fesi W fa=m wifau fa9d g+ o
1,2, ....,10 9% S&=s 9 sitFa 10 78 21
T o g o= | 9 T s Tis fepret
R ARG E (i=1,2,3) o= H 9 HEw T
71T W Hfehd HE&A &l n, ¥ =¥ fHa1 =,
o iRl | =% 772 freprelt s gt 8, S

n<n,<n, g ¢: éSS
Options: Q(§,
41652938462, 120 Q§§‘

$
41652935463, 104

41652938464, 52

41652035465, 24

Question Number : 67 Question Id : 4165299752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A ratio of the 5% term from the beginning
to the 5t term from the end in the binomial

10

1/
expansion of | 273 4 1

1/
2(3)3 )

Options:
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2
1:2(6)3

41652938466,
1
2(36)% : 1
41652938467,
2
A(2EN3 -
41652933468, 436)° : 1
3
. 3
41652953469, L 4(16)

Question Number : 67 Question Id : 4165299752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

10
I-". it bt -
2/3 4 11 F g gar ¥ s g
2(3)"3 )
53 991 3{d ¥ (W99 F1 A1) 5 9 US F U
I ®
Options:
1
1 : 2(6)3
41652938466, () \\QQ
O
»
1 \Q‘G
2(36) : 1 $Q
41652938467 @
1
J A3
416529358465, 4(36) !

41650038469, 1 ¢ 416)2

Question Number : 68 Question Id : 4165299753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The product of three consecutive terms of
a G.P. is512. If 4 is added to each of the
first and the second of these terms, the
three terms now form an A.P. Then the sum
of the original three terms of the given
G.P.is:
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41652938470, J0
41652938471, 32

41652938472, 28

418529384735,

Question Number : 68 Question Id : 4165299753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TS TR 4% o d9 FEFE (consecutive)
TSI W IUAEE 512 ¥ | TS $HEF Teel 991 g5
W E 4 e §, A 9% 9 wed
TR gt I €1 S g TR 99 F
I e % A E

Options:

s ]

41652938470, J0
41652638471, 32

41652938472, 28

o)
41652938473, 2 &§§§5
D
Question Number : 69 Question Id : 41 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Opti rientation: Vertical
Correct Marks: 4 Wrong Marks: @
' R BT WS
Let S, = RN
k

o F s g B 5 2 o e &

= - R e T F A , then
is equal to :
Options:

41652038474, 190

416525938475, 283

41652938476, J01

41652038477, 203
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Question Number : 69 Question Id : 4165299754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

" 5k:1|::|_’!1.<|....|L: v
G5 8% F o 8T 1“,} A oA
T &
Options:

41652938474, 196

41852938475, 283

41652038476, JU1

41852938477, 303

Question Number : 70 Question Id : 4165299755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
i mLEI Lanx
m 1S
x—T, cm(x b T }
/4 /4

Options:
i
41652938478, 2 Q
Q
§;$
41652933479, 4 N
Q‘b-
N
2 Q
41652938480, 8v2 N
8
41652938481,

Question Number : 70 Question Id : 4165299755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3
cof" x — flanx i

lim | — T T
1—&1"'4 L‘LH(I | _I—l-)

Options:

i o
41652938478, 2

41652938479, 4
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842

41652328480,

41552338451,

Question Number : 71 Question Id : 4165299756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For x > 1, if (21-]23-‘ — 4¢2X ~2Y _ then

) dy
1+log, 2x)” — isegualto:
[ gf. ) IfI q
Options:
x log, 2x + log, 2
41652938482, %
log, 2x
41552938483, Ue <
x log, 2x — log, 2
41 eE2a38454. X
xlog, 2x
41552938485, :

Question Number : 71 Question Id : 4165299756 Qu@»jon Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orimta@. Vertical

Correct Marks: 4 Wrong Marks: 1 @

AR x> 1 F T (20) = adé-\@y o

2 N\
(1 +log, 2x)~ dm—"'r EE]ER-%
%

Options:

x log, 2x +log, 2
41652938482, L

: i
41652938483, lng"’" =

x log, 2x — log, 2
416529384584, X

x log, 2x
41652938485, '

Question Number : 72 Question Id : 4165299757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Let S be the set of all points in (—r, ) at
which the function, f(x)=min {sinx, cosx}

is not differentiable. Then S is a subset of
which of the following 7

Options:

! T LB 3T

| B 4" 4" 2 |
416529354586,

[(3n @ 3w |

| wEt at atty ]
41652938487,

{ 3 T T -3':TL

. ; ¥ r ?r _ [
41652938488, °© = 2 2 =

m m 1
- gl T
{4 1 {

41652938489,

Question Number : 72 Question Id : 4165299757 Question Type: MCQ Option Shuffling.: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

[ S, AU ( — 7, 7) F == H Eq TH g4
fagst %1 ag= g, 99 W wo,
flx) =min {sinx, cosx} TFHEHT T &, @\9
et § 9 foroa S9aq=a 7 Q’g\\g

Options:

! T 0 T

| 27 43X’ 2
4152938486,

[L37 @Y = |

| 4" 4/4" 4 |
41552935487, -

J}: 3 T T 'ﬁ':rl

. ¥ ¥ ;r =

41652938488, = 2 2 = :

'} A []
L g ¥ r

Question Number : 73 Question Id : 4165299758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The maximum area (in sq. units) of a
rectangle having its base on the x-axis and
its other two vertices on the parabola,
y=12- x< such that the rectangle lies inside
the parabola, is :

Options:

41652938450, 36

4165259238491, 32

41650938490 2032

41652038493, 18V3

Question Number : 73 Question Id : 4165299758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e UH A, T SR x-39 W E A
HF A ¥ WA y=12—2> W 54 FHR
foorg 2 o ofrgd, Waod & o 9 H 2,

Afehas &=Fa (97 el §) T
Options:

41652938450, 36

41652938491, 22 Qg%
N
§Z§
41652938492, 20V2 &
N
RN
41652938493, 18v3

Question Number : 74 Question Id: 4165299759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The integral ICDS(IOBE x) dx is equal to :

(where C is a constant of integration)

Options:

x [cos(log, x) + sin(log,x)] + C
41652938494, [cos(loge 2) logx)

x [cns[lngg x) — sin(log, x)] + C
41652953495, &

b o 1

— |sin(log,x) — cos(log,x)| + C
41652938496 2[ (log.x) (log. )~
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x [ cos(log, x) + sin(log, x)] + C
41652938497,

Question Number : 74 Question Id : 4165299759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T [cos(log, x) dx =TER T

(§&l C U%F quEed 397 8)

Options:

x [cos(log, x) + sin(log,.x)| + C
41652938494 [cos(loge 2) (o, x)]

x [cns[lngm x) — sin(log, x)] + C
416529235495, &

X . -

— |sin(log,x cos(log, x)| + C
41652938496, 2 [ (log.x) (log. )]

~ [cos[log{, x) 4 sjrl[lng{_.x):l + C
416529235497,

Question Number : 75 Question Id : 4165299760 Question Type: MCQ .Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let f and g be continuous function@n
[0, a] such that f(x)=f(a—x)}\and

S

g(x) +gla—x)=4, then I}@ﬁxj dx, is
N\
equal to :
Options:
[f(x) ax

41852938498 0

2 aIf{x} dx

41652938499, U

4 ij(x) dx

41852938500, 0

3 }f{xj dx

41552328501, 0
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Question Number : 75 Question Id : 4165299760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
M f a9 g, [0, a] W TH Had wer € 5
Jr'{:!. fla—x) T4 g(x)+gla—x)=4 g,

j_ f(x) gx) dx == E
0
Options:

[f(x) ax
0

415523384398,

2 a_[f(x} dx

41652938499, U

4 HI;'(::] dx

41552338500, 0

3 }f{:ﬂ:) dx
0

4165259238501,

Single Line Question Option : No Option Ori Vertical
Correct Marks: 4 Wrong Marks: 1

The area (in sq. units) nf the re nundc-d
by the parabola, y=x2+2 the lines,
y=x+1,x=0and x=3, HQ}

Options:

Question Number : 76 Question Id : 41652997613%§on Type: MCQ Option Shuffling : Yes Display Question Number : Yes

el

5

41652038502, 2

|2

4155259238503,

.4'--|L‘J

416525938504,

15
41652938505, 4

Question Number : 76 Question Id : 4165299761 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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T y=x2+2 T @A y=x+1, x=0
B x =3 B ol 2 8 1 e (0 s
) ¥

Options:

[

5

41652938502, 2

|2

41852938503,

| 5

416525828504,

15
41652938505, 4

Question Number : 77 Question Id : 4165299762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Lety=y(x) be the solution of the differential

. dy

equation, X = ty=xlog.x,(x>1). If
=
2y(2) =log,4—1, then y(e) is equal to:

Q
Q
§§$

41652938506, - N
N
. N

; $

Options:

o

41652938507, 4

PRI | ™

41852938508,

41652938509, 2

Question Number : 77 Question Id : 4165299762 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HAEAT  y=y(x), HATFA  HHHLT
X i;—y Fy=xlog,x,(x>1) FEATl AT

2y(zj§= log4—1 %, Tl y(e) TR T :
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Options:

o

416525938506,

o)

41652938507, 4

PRI | ™

41852938508,

=]

|

4165258238509,

Question Number : 78 Question Id : 4165299763 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the straight line, 2x -3y +17=0 is
perpendicular to the line passing through
the points (7, 17) and (15, B), then B
equals :

Options:

41652038510, 2

3%
3
41652938511, \@Q
S
41652938512, 2 N
W
N
B

41552338513,

Question Number : 78 Question Id :'4165299763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Ffg | W@ 2 -3y +17=0, fag3di (7, 17)
a1 (15, B) T T I el a1 F w=a9q ¢,
Tl B ==l % :

Options:

41652938510, 2

35

41852938511, 3
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41652938512, O

418529385135,

Question Number : 79 Question Id : 4165299764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a variable line, 3x + 4y — A=101is such that
the two circles x*+ > —2x—2y+1=0 and
x2+ 2 —18x — 2y + 78=0are on its opposite
sides, then the set of all values of A is the
interval :

Options:

416525938514, (23,31)

2
416525938515, (2.17)

>
416525938516, 113, 23]

418529328517, (12, 21]

Question Number : 79 Question Id : 4165299764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Q
Ffg U = @l 3y +4y— A=0 TH ‘%ﬁ
2l ESl xz+13-21—2y+\@0 aY7

x24+y2—18x—2y+78=0 =14
(opposite sides) TAANTFT qﬁﬁﬂﬂﬁq
= § 9 FE e © 7

Options:

41552938514, {23' 31]

2
41552328515, (2,17)

>
41852938516, 113, 23}

41652938517, 112 21]

Question Number : 80 Question Id : 4165299765 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Let C; and C; be the centres of the circles
x?+y?—2x—2y—2=0and

x2+y?—6x— 6y +14 =0 respectively. If P
and Q are the points of intersection of these
circles, then the area (in sq. units) of the

quadrilateral PC,QC; is :
Options:
41652938518 4

4165259385149, 6

41652938520, O

41652938521, 9

Question Number : 80 Question Id : 4165299765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HA C, 941 C, o9 F4i
x2+y2—2x—2y—2=0qA

2 4y2—6x—6y+14=0F FZ & | AP qM
Q A ¥ Wi faig €, @ =19+ PC,QC,
1 G (97 s H) ¥

Options:
41652938518, 4 N
N\
_ &
41852938519, © \S§>
Q

®$

41652938520, O

41652938521, 9

Question Number : 81 Question Id : 4165299766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let P(4, —4) and Q(9, 6) be two points on
the parabola, lﬁ:;b_— and let X be any point
on the arc POQ of this parabola, where O
is the vertex of this parabola, such that the
area of APXQ is maximum. Then this
maximum area (in sq. units) is :

Options:

L
Iu‘H

416525938522,
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625
41652938523, 4

125
41652938524, 4

75

41652938525, 2

Question Number : 81 Question Id : 4165299766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HAT P4, —4) 791 Q(9, 6) WA y?>=4x W
feom 9 fag €1 O 39 WaoE 1 ¥ fag & aen
X 4 WEerd 1 =9 POQ =1 1S uw faig &,
fomer foru APXQ =1 25wl aifisam 2, a1
a2 Afehad &% (a7 sdl |) 2

Options: _
s
41652038522, 2
625
41652938523, 4
. N
125 g\\g
41652938524, 4 N
‘$§>
: Q
5

41652938525, 2

Question Number : 82 Question Id : 4165299767 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

[f the vertices of a hyperbola be at (-2, 0)
and (2, 0) and one of its foci be at (=3, 0),
then which one of the following points
does not lie on this hyperbola ?

Options:

(4,5

41852938526,

(z 6. 5)
41652938527,
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(s, 52)

41652938528,

(-6.2/7)

415523928529,

Question Number : 82 Question Id : 4165299767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
g Ueh Afqaed & 3™ (— 2, 0) 741 (2, 0)
T & A1 ST U AT (—3,0) WE, 9 f=

| A 1A w1 faig 59 rfasees w fem T8 22
Options:
(4. /5)
41552938526,

(z 6. 5)
41852938527,

(6,53

41652938528,

(-6,2410)

4165259238529,

N

Question Number : 83 Question Id : 41652997 ‘Q«%ﬂion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Or& ion : Vertical

Correct Marks: 4 Wrong Marks: 1

The perpendicular distance @n the grigin
to the plane cm‘:taming_@m tworlineés,

'x|2=y2 z+5

3 5 = - and

x—-1 _y—4_z+4 o

1 4 i
Options:

41652938530, 11

=
41652938531, 11V6

.ly
415525938532, "“'Irﬁ_

41652938533, OVl
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Question Number : 83 Question Id : 4165299768 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Q ymer FF2-Y"2_ 245 o
3 5 7
o S . T N
= = F1 FHafaw=
1 4 7
ATel A 1 geafag o oi=ad 91 & ;
Options:

41652938530, 11

'
41652938531, 11V6

.Iy
41852938532, *"Irg

41652938533, OV11

Question Number : 84 Question Id : 4165299769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A tetrahedron has vertices P(1, 2, 1),
Q@2.1,3), R(—1,1, 2) and O(0, 0, 0). The
angle between the faces OPQ and POR is:

Options:
-1(19) \\Q’Q\

Rl € B
41652938534, A q§>
Q
N
S
CDEI[—I|§‘
41652938535, \31)
~1( 9 )
CD‘ilt—|
35 )
41652938536,

416525938537,

Question Number : 84 Question Id : 4165299769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T Iq9RcTF (tetrahedron) EaRiiL P(1,2,1),
Q(2,1,3),R(—1,1,2) =1 O(0, 0, 0) & | FeTh
OPQ 41 PQR ¥ == =1 &IV & :
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Options:

415523928534,

41852938555, ?

415523938536,

418529385357,

Question Number : 85 Question Id : 4165299770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the distinct real values of p, for

M M At
which the wvectors, i+ j +k,

5 Fa) FAY

i+ pj + k- t+ 7 +pk are

co-planar, is :

Options:

41652938538, 0 ®
Q

41652938539, 1 %§%
Q
41652938540, N

418529358541,

Question Number : 85 Question Id : 4165299770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
w F 3 9= arafas q6 =1 9, 59 o

A

A ) M M M
wfew wi +j +k, bk 949l

i+
A M M i
i + j + pk Hedel™ (co-planar) R E
Options:

41652935535, U

41652938539, 1
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41552338540, -

416525928541, 2

Question Number : 86 Question Id : 4165299771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

I[f the sum of the deviations of 50
observations [rom 30 is 50, then the mean
of these observations is :

Options:

41652938542, 50

41652938543, 21

416525928544, 30

41852938545, 31

Question Number : 86 Question Id : 4165299771 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

7AfE 50 T&N % 30 H fagei (deviations) 1

AT 50 7, 91 T S A Q>®
Options: Sﬁ&
50 N
41652938542, S
W
&Q
41652938543, Ol $
41652938544, U
41652038545, 1

Question Number : 87 Question Id : 4165299772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a random experiment, a fair die is rolled
until two fours are obtained in succession.
The probability that the experiment will
end in the fifth throw of the die is equal
to:

Options:
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41652938546, 6°
41652038547, 6°

5
41652938548 O

41652938549, O

Question Number : 87 Question Id : 4165299772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

UE Ag=g® T4 |, UF A4 (Fair) 9
= e ol e e | o A s ol el et
T AT AW O TH YEE & 9= 9] 9 F
3B (throw) T8 HH1E 8 =T W &

Options:
200

41652938546, 6°
41652938547, 6° N
5
41652938548, O Q
Q

41652938549, O

Question Number : 88 Question Id : 4165299773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The maximum value ol

—

3 cosb + 5 si_n[El EIW for any real value

\ A
of Bis :
Options:
79
41652938550, 2
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\.-'Iﬁ

41652938551
\f'ﬁ
41652938552,
T
41652938553, V34

Question Number : 88 Question Id : 4165299773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T
3 cosh 55ﬁ1[8 EI F1 0 & THdr o
Tt A % foru stishas 79 2
Options:
79
41652938550, 2

41652938551_”19

—_—

V31
41552938552,

: Jﬁ

41652938553, N
N

Question Number : 89 Question Id : 41652 QA Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Optio@ entation : Vertical

Correct Marks: 4 Wrong Marks: 1 -\

i S
Considering only the principal values of
inverse functions, the set

2 {x > (: tan"I(EJ_'] | tan_l{.'%x] 2 II

LY

Y s

Options:

41652038554, 1S anemply set

is a singleton
41552938555,

41652938556, contains two elements

41650038557, contains more than two elements

Question Number : 89 Question Id : 4165299774 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
Hiae™ Fel (inverse functions) & #ae A
HAM (principal values) @d U, 9=

1

A={x = 0:tan 1 (2x) ’Lﬁﬂ_lﬁxlzg

Options:

41552328554, T e 1 %I

4165093g55s, UF UHe FH=E © |

41652938556, 1 W 2l

b R

s1fe a1
41652938557, D 9 R d

Question Number : 90 Question Id : 4165299775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The Boolean expression

(prq)v(pv~gq)Aa(~par~q)is

equivalent to :

Options:
41652938558, P 9)
I &
41652938559 PV 4) 6(2&&
corea) &
41652938560,  © q@$
41652938561, 1

Question Number : 90 Question Id : 4165299775 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
E{\Eﬁ?l =4 9% (Boolean expression)

(paq)vipv~q)al~pa~q) F=H
IEEE e A

Options:

41650938558, PG 9)

41650938550 PV ()
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416525938560, platn)

P
41852938561, B4
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